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n.:mR English version

If you lend 5*°ku for 5 years and collect 12koku 4togsho 1eo gshaku \what

percentage will yo
Together with the
when dividing by t
four times one, pu

u take?

orincipal and interest by 12koku gtogsho qgo gshaku

ne 5koku it becomes 248832. With a quotient as one,
| it from the Jitsu, and 144832 remains. With the

second quotient as two, we take the law twice and become one. Again,
with the first quotient as 12, it doubles one of the first quotient and

becomes 22. It wil

| be 44 over the 22's first two places. From this, | will

become 10438 2. Again again with the first quotient as 12, we will add
two more digits and then the next one of the quotient to add to 1244.
Among them, multiplying three over two, it becomes 364. Among
them, one of the initial barges is spoken to 36, and it becomes 364.

Also, it will be mul
become 144. It wil

tiplied by the first quotient of the quotient to

ill be 524 in the right hand side, this. Well, | will

withdraw the 2 which | have just made, by taking the 2 X 5=10, the 2

X 2=4,the 1l X 2=
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2, the 2 X 6=12, and the quotient.

Engagement:Katano,Katsumata
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| learned how to use ancient calculator and utilized it, and it B2z REF=>7=,

was big, and this native mathematics of Japan to be asked all

of the ability to affect adjustability, the mathematics that SA®HDT=,
cleared up a problem exactly brought us up. CDEDFI=-EOANEDK

SERORE
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It was serious because there was no opening or opening, and
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MRS Mathematical content 2 &
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%=bx SF N, 5x°=12.4416

E6=5x2. .. x°=2.48832

— 12 =5x° x=1.2
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H38ER English version

When | lend 5%°ku for five years, when | take 12koku 4togsho jgo gshaku
what is it?
Let x be the interest that lent 1k°kv for one year.
Thus, after 1 year = 5x, 2 years later = 5x?, ... 5 years later = 5x°
That is, 5 x°>= 12.4416
x°= 2.48832
x=1.2
Therefore, the interest is 1.2 times  Engagement:Katano,Katsumata
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Sangi is calculation tool which was used in Japan and China.

A red Sangi represents a negative number and a black Sangi represents a
plus number.

It was used with Soroban in Edo period. Unlike Soroban, it was used in
higher-order algebraic equations, four arithmetic operations, extraction
of Cubic root and extraction of square root.

And it was used on a cloth called Sanban with lattices. On the abscissa of
the Sanban has written digits such as 10,000,1,000,100,10,1.

And Syo, Jitsu, Ho, Ren and Sumi are written on the vertical axis. Write
the answer in the place of “Syo” and write the constant term in the
place of “Jitsu”.

Write the coefficients of the primary, secondary and tertiary terms in
“Ho”, “Ren” and Sumi respectively. Engagement:Katano,Katsumata
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1oL B RY M AEEDELEEELTLoNYERET We had to derive the fifth power of the trees by ourselves.
There were many things to learn such as cooperating by

EZEBELEEIENERITH T THOBERAHL, solving with everyone.

| wanted to work hard to solve to the | think that | will do a great help for our life after this.
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Efforts from earlier on

end by doing a role sharing etc.

| want to revisit once |

dNSwers.
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have acquired the ability to guide
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